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GENERAL AWARENESS 

1. When the branch of a tree is shaken violently, the
leaves fall. This happening can be explained by:

(1) Joules 1st law of motion
(2) Newton's 1st law of motion
(3) Joules 2nd law of motion
(4) Newton's 3rd law of motion

1. fdlh isM+ dh 'kk[kk dks tksj ls fgykus ij ifÙk;k¡ fxjrh gSaA bl ?kVuk
dh O;k[;k gksrh gS xfr ds%

(1) twy ds çFke fu;e ls
(2) U;wVu ds çFke fu;e ls
(3) twy ds f}rh; fu;e ls
(4) U;wVu ds r`rh; fu;e ls

2. What is the eligibility criteria for age for election as
vice President of India?

(1) Should have completed the age of 35 years
(2) Should have completed the age of 30 years
(3) Should have completed the age of 25 years
(4) Should have completed the age of 32 years

2. Hkkjr ds mi&jk’Vªifr ds pquko gsrq mez dk vgZrk ekun.M D;k gS\

(1) 35 o’kZ dh vk;q iw.kZ gksuh pkfg,
(2) 30 o’kZ dh vk;q iw.kZ gksuh pkfg,
(3) 25 o’kZ dh vk;q iw.kZ gksuh pkfg,
(4) 32 o’kZ dh vk;q iw.kZ gksuh pkfg,

3. The president can nominate two members of the Lok
Sabha to give representation to

(1) The Anglo-Indians
(2) Indian Christians
(3) Parsis
(4) Buddhists

3. jk’Vªifr yksd&lHkk esa fuEu dk çfrfuf/kRo djus ds fy;s nks lnL;ksa
dks ukekafdr dj ldrs gSa%

(1) vkaXy Hkkjrh;
(2) Hkkjrh; bZlkbZ
(3) ikjlh
(4) cqf)’V

4. FIFA World Cup 2018 will be organised in which of the
following countries?

(1) Russia (2) Germany
(3) Brazil (4) France

4. FIFA fo”odi 2018 fdl ns”k esa vk;ksftr fd;k tk;sxk\

(1) :l (2) teZuh
(3) czkt+hy (4) Ýk¡l

5. Planet that rotates clockwise:

(1) Earth (2) Venus
(3) Mars (4) Pluto

5. og xzg tks nf{k.kkorZ ?kw.kZu djrk gS%

(1) i`Foh (2) “kqØ
(3) eaxy (4) IywVks

6. Select the smallest (computer) memory size?

(1) Terabyte (2) Gigabyte
(3) Kilobyte (4) Megabyte

6. Le`fr vkdkj ¼dEI;wVj½ ds fglkc ls lcls NksVs dk p;u djsa%

(1) VsjkckbZV (2) fxxkckbZV
(3) fdyksckbZV (4) esxkckbZV

7. Which one among the following is not an important
factor of climate of an area?

(1) Latitude
(2) Longitude
(3) Altitude
(4) Distance from the sea

7. fuEufyf[kr esa ls dkSu&lk ,d {ks= ds tyok;q dk ,d egRoiw.kZ
dkjd ugha gS\

(1) v{kkarj
(2) ns”kkarj
(3) rqaxrk
(4) leqæ ls nwjh

8. Dr. C.V. Raman was awarded Nobel Prize for his work
connected with which of following phenomenon of
Radiation?

(1) Scattering (2) Diffraction
(3) Interference (4) Polarization

8. MkW- lh-oh- jeu dks ukscsy iqjLdkj fn;k x;k tks fofdj.k dh fdl
lao`fÙk ls lEcfU/kr Fkk\

(1) çdh.kZu (2) foorZu
(3) O;frdj.k (4) /kzqohdj.k

9. Find the odd one out on the basis of its rotation?

(1) Venus (2) Mars
(3) Pluto (4) Earth

9. blds ?kw.kZu ds vk/kkj fo’ke dks igpkusa\

(1) “kqØ (2) eaxy
(3) IywVks (4) i`Foh

10. Vasco-de-gama was a native of:

(1) America (2) Britain
(3) Portugal (4) Australia

10. okLdksfMxkek dgk¡ dk fuoklh Fkk%

(1) vesfjdk (2) fczVsu
(3) iqrZxky (4) vkLVªsfy;k
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DISCIPLINE / TECHNICAL APTITUDE 

11. Effective span of a freely supported beam or slab is:

(1) Distance between the centre of the end supports
(2) Clear distance between the support plus the effective

depth of the beam
(3) Clear distance between support plus twice the

effective depth of the beam
(4) Least of (1) & (2)

11. eqDr lefFkZr che ;k ifV;k dk çHkkoh LiSu gS%

(1) Nksj li¨VZ d¢ d¢aæ d¢ chp dh nwjh
(2) che d¢ li¨VZ ,oa çHkkoh xgjkÃ d¢ chp dh nwjh
(3) che d¢ li¨VZ ,oa çHkkoh xgjkÃ d¢ nqxqus d¢ chp dh nwjh
(4) (1) ,oa (2) esa ls tks U;wure

12. A doubly reinforced beam is used:

(1) When extra safety factor is required
(2) When the depth and width of beam have to be

restricted
(3) When depth of beam is more than the width
(4) A large moment of resistance is desired

12. ,d Mcy jsuQ¨lZesaV che dk mi;¨x fuEu esa fd;k tkrk gS%

(1) tc T;knk lqj{kk QSDVj dh t#jr g¨
(2) tc che dh xgjkÃ vkSj p©MkÃ d¨ Áfrcaf/kr djuk gS
(3) tc che dh xgjkÃ p©M+kÃ ls vf/kd g¨
(4) tc vf/kd e¨esaV vkWQ+ jsftLVsal dh t:jr g¨

13. A slender element is the one whose:

(1) Length is large as compared to its depth
(2) Length is large as compared to its other dimensions
(3) L/D > 15
(4) L/D >25
Where L = Span and D = depth

13. ,d LysaMj ,fyesaV gS ftldk%

(1) yackÃ bldh xgjkÃ dh rqyuk esa cM+k gS
(2) yackÃ bld¢ nwljs vk;ke dh rqyuk esa cM+k gS
(3) L/D > 15
(4) L/D >25
Where L = yEckbZ ,oa D = xbjkbZ

14. Deflection of steel beams is limited:

(1) span/180 (2) span/250
(3) span/325 (4) span/350

14. LVhy che dh fM¶ysD'ku fuEu rd lhfer gS%

(1) LiSu/180 (2) LiSu/250
(3) LiSu/325 (4) LiSu/350

15. The Consistency Index of Soil is:

(1) (Natural Water Content – Liquid Limit)/ Plasticity Index
(2) (Natural Water Content – Liquid Limit)/ Liquidity Index
(3) (Liquid Limit– Natural Water Content)/ Plasticity Index
(4) None of these

15. fdlh Òh feVVh dk dfUlVsalh baMsDl g¨rk gS\

(1) ¼uspqjy okVj daVsaV & fyfDoM fyfeV½@ IykfLVflVh baMsDl
(2) ¼uspqjy okVj daVsaV & fyfDoM fyfeV½@ fyfDofMVh baMsDl
(3) ¼fyfDoM fyfeV& uspqjy okVj daVsaV ½@ IykfLVflVh baMsDl
(4) buesa ls dksbZ ugÈ

16. Maximum bending moment occurs at a point where:

(1) S.F. is either zero or changes sign
(2) S.F. is maximum
(3) Transverse loading is zero
(4) At the centre of the beam span

16. eSfDlee csfUMax e¨esaV fdl fcUnq ij g¨rk gS%

(1) S.F. dk eku 'kwU; ;k cnys fpUg
(2) S.F. dk eku vf/kdre g¨
(3) VªkalolZ y¨ÇMx thj¨ g¨
(4) che Liku d¢ e/; esa

17. The red colour of bricks is due to:

(1) Iron oxide
(2) Silica
(3) Magnesia
(4) Alumina

17. ÃV dk yky jax fdl rŸo d¢ dkj.k g¨rk gS

(1) vk;ju vkWDlkbM
(2) flfydk
(3) eSxfuf'k;k
(4) ,yqfeuk

18. The lower water–cement ratio in concrete produces:

(1) More density
(2) Small creep and shrinkage
(3) More bond
(4) All of these

18. daØhV mRikn¨ esa okVj ,oa lhesaV dk de vuqikr ls g¨rk gS

(1) T;knk MsaflVh
(2) de Øhi vkSj JhUd¢t
(3) T;knk ckaM
(4) ;s lHkh

19. Reinforcement bars are generally bent:

(1) By heating
(2) Welding
(3) Manually using lever
(4) By dies and jigs

19. jsuQ¨lZesaV ckj dks lkekU;r% eksM+k tkrk gS%

(1) xeÊ }kjk
(2) osfYMax
(3) gkFk ls yhoj dk mi;¨x dj
(4) Mkbt vkSj ftXl }kjk

JE_Civil (Eve.) NBC29OCTX7 [A–2]

https://testbook.com/
https://play.google.com/store/apps/details?id=com.testbook.tbapp


20. The plasticity index may be defined as the numerical
difference between:
(1) Liquid limit and plastic limit
(2) Plastic limit and shrinkage limit
(3) Liquid limit and shrinkage limit
(4) None of these

20. IykfLVdrk lwpdkad dks fuEu ds chp la[;kRed varj ds :i esa
ifjHkkf’kr fd;k tk ldrk gS%

(1) nzo lhek vkSj IykfLVd lhek
(2) IykfLVd lhek vkSj ladqpu lhek
(3) nzo lhek vkSj ladqpu lhek
(4) buesa ls dksbZ ugha

21. The recommended compression strength of A class
Brick as per B I S is:
(1) 25N /mm2 (2) 20N / mm2

(3) 14N / mm2 (4) None of these

21. B I S ds vuqlkj A Js.kh dh bZaV dk vuq”kaflr laihM+u lkeF;Z gksrk gS%

(1) 25N /mm2 (2) 20N / mm2

(3) 14N / mm2 (4) buesa ls dksbZ ugha

22. The formula 2
1

3
2

S R
n
1V = used for determining flow 

velocities in sewers is known as: 

(1) Chezy’s formula (2) Bazin’s formula
(3) Kutter’s formula (4) Manning’s formula

22. lw= 2
1

3
2

S R
n
1V =  tks ey O;oLFkk cgko osx dks fu/kkZfjr djus esa 

ç;ksx gksrk gS] fdldk lw= gS% 

(1) psth lw= (2) csftu lw=
(3) dqVlZ lw= (4) eSfuaXl lw=

23. To orient a plane table without two inaccessible
points, the method generally adopted is:

(1) Intersection (2) Resection
(3) Radiation (4) Two point problem

23. nks vxE; fcUnqvksa ds cxSj ,d lery est ds vuqLFkkiu ds fy,
lkekU;r% viukbZ tkus okyh i)fr gS%

(1) vUrZPNsnu (2) çfrPNsnu
(3) jsfM,’ku (4) f}&fcUnq leL;k

24. In a riveted connection, a minimum distance of the
rivet from the edge is kept with a view to preventing
failure due to

(1) Shearing of rivet (2) Bearing on rivet
(3) Shearing of plate (4) Tearing of plate

24. fjosV dusD'ku esa fdukjs ls fjosV dh U;wure nwjh buesa ls fdldh
otg ls gksus okyh vlQyrk ls cpus dh n`f"V ls j[kh tkrh gS%
(1) fjosV dk vi:i.k (2) fjosV ij fc;fjax
(3) IysV dk vi:i.k (4) IysV dk fV;fjax

25. Which one of the following forms of chlorine has no
disinfectant property:

(1) Hypochlorous acid (2) Hypochlorite ion
(3) Monochloramine (4) Trichloramine

25. Dyksjhu dh fuEukafdr :iksa esa ls fdlesa dksbZ jksxk.kquk”kh xq.k ugha
gksrk gS%

(1) gkbiksDyksjl vEy (2) gkbiksDyksjkbV vk;u
(3) eksuksDyksjkekbu (4) VªkbDyksjkekbu

26. Eutriphication of lakes is due to:

(1) Excess nutrients in water
(2) Excess hard ion in water
(3) Excess turbidity in water
(4) Excess iodine in water

26. >hyksa dk b;wfVªfQds”ku dk dkj.k gS%

(1) ty esa iks’kdksa dk vkf/kD; gksuk
(2) ty esa dBksj vk;uksa dk vkf/kD; gksuk
(3) ty esa vkfoyrk dk vkf/kD; gksuk
(4) ty esa vk;ksMhu dk vkf/kD; gksuk

27. Most of the bacteria in sewage are:

(1) Parasite (2) Patrognic
(3) Saprophitic (4) Anaerobic

27. eyd ty esa vf/kdrj thok.kq gksrs gSa%

(1) ijthoh (2) jksxewyd
(3) lsçksfQfVd (4) vok;oh;

28. In roof trusses, the most frequently used section is:

(1) Two-angle sections placed back to back
(2) Two-channel sections placed back to back
(3) Two channel sections placed wide apart
(4) Four-angle sections

28. Nr dSafp;ksa esa] lokZf/kd iz;qDr [kaM gS%

(1) ,d&nwljs ds ihNs j[ks x, f}dks.kh [kaM
(2) ,d&nwljs ds ihNs j[ks x, f}pSuy [kaM
(3) iwjh rjg i`Fkd j[ks x, f}pSuy [kaM
(4) prq’dks.kh [kaM

29. The ratio of ultimate creep strain to elastic strain is
known as:

(1) Creep modulus (2) Creep coefficient
(3) Creep–strain ratio (4) Tertiary creep

29. izR;kLFk fod`fr ds izfr pje folihZ fod`fr dk vuqikr dgykrk gS%

(1) foliZ.k ekM~;wy (2) foliZ.k xq.kkad
(3) foliZ.k fod`fr vuqikr (4) r`rh;d foliZ.k
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30. When a canal flowing under pressure is carried below
a natural drainage such that its FSL does not touch the
underside of the supporting structure, the structure so
provided is called:

(1) Syphon (2) Aqueduct
(3) Super passage (4) Syphone–aqueduct

30. ncko ds vUnj çokfgr gksus okyh ,d ugj dks fdlh çkÑfrd
viokg ds uhps ls bl çdkj ys tk;k tkrk gS fd bldk FSL
lgk;d lajpuk dks Hkhrj dh rjQ ugha Nwrk gSA bl çdkj miyC/k
djkbZ xbZ lajpuk dks dgrs gSa%

(1) lkbQu (2) tylsrq
(3) Å/Zoya?kd (4) lkbQu&tylsrq

31. A circular hole of 50 mm diameter is cut out from a
circular disc of 100 mm diameter as shown in Fig. The
center of gravity of the section will lie:

(1) In the bigger circle
(2) In the hole
(3) At center of bigger circle
(4) At center of smaller circle

31. tSlk fd fp= esa n”kkZ;k x;k gS 100 mm O;kl dh ,d o`Ùkkdkj
fMLd ls 50 mm O;kl dk ,d o`Ùkkdkj fNæ dkVk gqvk gSA dkV dk
xq:Ro dsUæ%

(1) cM+s o`Ùk esa iM+sxk
(2) fNæ esa iM+sxk
(3) cM+s o`Ùk ds dsUæ ij gksxk
(4) NksVs o`Ùk ds dsUæ ij gksxk

32. Limiting value of Poisson’s ratio are:

(1) –1 and 0.5
(2) 1 and 0.5
(3) 0 and 0.5
(4) None of these

32. ikbtu js';¨ dh fyfeÇVx oSY;w g¨rh gS

(1) –1 vkSj 0.5
(2) 1 vkSj 0.5
(3) 0 vkSj 0.5
(4) buesa ls dksbZ ugha

33. Which of the following section is most efficient in
carrying bending moments:

(1) Rectangular (2) Circular
(3) I–Section (4) T–Section

33. fuEu esa ls d©u ls lsD'ku esa csfUMax e¨esaV d¨ ogu djus dh
'kfä lokZf/kd g¨rh gS%

(1) jsDVaxqyj (2) ldqZyj
(3) I&lsD'ku (4) T&lsD'ku

34. The following figure shows the shear force diagram for
a beam simply supported. The maximum BM for the
loaded beam is:

(1) 13.0 tm at B (2) 48 tm at C
(3) 9 tm at B (4) None of these

34. fuEukafdr fp= ,d lk/kkj.k lefFkZr /kju ds fy, vi:i.k cy
vkjs[k n”kkZrk gSA Hkkfjr /kju ds fy, vf/kdre BM gS%

(1) B ij 13.0 tm (2) C ij 48 tm
(3) B ij 9 tm (4) buesa ls dksbZ ugha

35. A doubly reinforced beam is considered less economical
than a singly reinforced beam because:

(1) Shear reinforcement is more
(2) Compressive steel is under stressed
(3) Tensile steel required is more than that for balanced

section
(4) Concrete is not stressed to its full value

35. ,d nksgjh çcfyr /kju de [kpÊyh ekuh tkrh gS bdgjh çcfyr
/kju dh rqyuk esa D;ksafd%

(1) vi:i.k çfrcy T;knk gksrk gS
(2) laihfMr LVhy vUrZ çfrcfyr gksrh gS
(3) larqfyr [k.Mksa dh vis{kk rU; LVhy T;knk okafNr gksrh gS
(4) dadjhV vius iw.kZ eku rd çfrcfyr ugha gksrk gS

36. Quantity of cement required (in terms of 50 kg. bags)
to cast a 5 m×4 m slabs (RCC 1:2:4) of thickness 10 cm
is approximately:

(1) 8 bags (2) 11 bags
(3) 13 bags (4) 14 bags

36. 10 lseh- eksVkbZ okys 5 m×4 m LySc (RCC 1:2:4) <kyus ds fy,
yxHkx fdrus ¼50 fdxzk- cksfj;k¡½ lhesaV dh t:jr iM+sxh%
(1) 8 cksjs (2) 11 cksjs
(3) 13 cksjs (4) 14 cksjs
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37. A staff reading taken on a point of known elevation is
called:

(1) Fore-sight (2) Back sight
(3) Intermediate sight (4) Front sight

37. fdlh Kkr mn~fo{ksi ds ,d fcUnq ij yh xbZ LVkQ jhfMax dks dgrs gSa%

(1) vxzkoyksdu (2) i'p voyksdu
(3) e/;koyksdu (4) lUeq[k voyksdu

38. The addition of pozzolana to cement results in:

(1) Increased curing time
(2) Decreased curing time
(3) Increase in early-setting time
(4) Increase in strength

38. lhesUV esa ikstksykuk ds feykus dk ifj.kke gksrk gS%

(1) c<+k gqvk lalk/ku dky
(2) ?kVk gqvk lalk/ku dky
(3) 'kh?kz O;oLFkkiu dky esa o`f)
(4) lkeFZ; esa o`f)

39. M 20 grade of concrete is approximately:

(1) 1 : 3 : 6 mix (2) 1 : 1 : 2 mix

(3) 1 : 
2
1

1 : 3 mix (4) 1 : 2 : 4 mix

39. M20 Js.kh ds daØhV esa yxHkx feJ.k gksrk gS%

(1) 1 : 3 : 6 mix (2) 1 : 1 : 2 mix

(3) 1 : 
2
1

1 : 3 mix (4) 1 : 2 : 4 mix

40. Modulus of rigidity may be defined as the ratio of:

(1) Linear stress to lateral strain
(2) Lateral strain to linear strain
(3) Linear stress to linear strain
(4) Shear stress to shear strain

40. n`<+rk dk ekikad ifjHkkf’kr fd;k tk ldrk gS blds vuqikfrd%

(1) jSf[kd çfrcy ls ik”oZ foÑfr
(2) ik”oZ foÑfr ls jSf[kd foÑfr
(3) jSf[kd çfrcy ls jSf[kd foÑfr
(4) vi:i.k çfrcy ls vi:i.k foÑfr

41. A steel bar of 5mm is heated from 15°C to 40°C and it
is free to expand. The bar will induce:

(1) No stress (2) Shear stress
(3) Tensile stress (4) Compressive stress

41. 5mm okyh ,d LVhy dh NM+ dks 15°C ls 40°C rd rkfir fd;k
tkrk gS vkSj ;g QSyus ds fy, eqä gSA NM+ çsfjr djsxh%

(1) dksbZ çfrcy ugha (2) vi:i.k çfrcy
(3) ruu çfrcy (4) laihMu çfrcy

42. The flakiness of aggregate has the following effect on
the strength of the concrete in which it is used:

(1) Increases strength
(2) Does not affect the strength
(3) Decreases the strength
(4) Decreases the soundness

42. daØhV dh lkeF;Z ij ftlesa ,xzhxsV ç;ksx fd;k tkrk gS] mldh
fonyrk fuEu çHkko Mkyrh gS%

(1) lkeF;Z c<+krh gS
(2) lkeF;Z dks çHkkfor ugha djrh
(3) lkeF;Z dks de djrh gS
(4) funksZ’krk de djrh gS

43. The theodolite is an instrument used for measuring
very accurately:

(1) Horizontal angles only
(2) Vertical angles only
(3) Horizontal and vertical angles
(4) Linear measurements

43. fFk;ksMksykbV ,d ,slk midj.k gS ftldk iz;ksx fuEu dks vR;ar “kq)
:i ls ekius ds fy, fd;k tkrk gs%

(1) dsoy {kSfrt dks.k
(2) dsoy Å/okZ/kj dks.k
(3) {kSfrt vkSj Å/okZ/kj dks.k
(4) jSf[kd eki

44. Compression index on a soil helps to determine:

(1) Total time required for consolidation
(2) Time required for 50% consolidation
(3) Total settlement of clay layer
(4) Pre–consolidation pressure of clay

44. e`nk ij laihMu lwpdkad fuEu ds fu/kkZj.k esa lgk;d gksrk gS%

(1) lafiaaMu ds fy, visf{kr dqy le;
(2) 50% lafiaaMu ds fy, visf{kr dqy le;
(3) e`fRrdk ijr dk lexz cankscLr
(4) e`fRrdk dk iwoZ&lafiaMu nkc

45. One litre of water occupies a volume of:

(1) 100cm3 (2) 250 cm3

(3) 500cm3 (4) 1000cm3

45. ,d yhVj ty fdruk vk;ru ?ksjrk gS%

(1) 100cm3 (2) 250 cm3

(3) 500cm3 (4) 1000cm3

46. The most efficient section of a channel is:

(1) Triangular (2) Rectangular
(3) Square (4) Trapezoidal

46. pSuy dk lokZf/kd n{krk okyk [k.M gksrk gS%

(1) f=dks.kh; (2) vk;rh;
(3) oxkZdkj (4) Vªsist+ksfM;y
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47. When a body is subjected to 3 mutually perpendicular
stresses, of equal intensity, the ratio of direct stress to
the corresponding volumetric strain is known as:

(1) Young’s modulus
(2) Modulus of Rigidity
(3) Bulk Modulus
(4) Poisson’s ratio

47. tc ,d fi.M rhu leku rhozrk okys ikjLifjd çfrcyksa ds v/khu gS
rks çR;{k çfrcy ls lac) vk;rfud foÑfr tkuh tkrh gS%

(1) ;ax dk ekikad
(2) n`<+rk dk ekikad
(3) cYd dk ekikad
(4) ik;lu vuqikr

48. The dressing of stone is done:

(1) Immediately after quarrying
(2) After seasoning
(3) After three months of quarrying
(4) Just before construction

48. LVksu dh Mªsflax dh tkrh gS%

(1) [kuu ds rqjUr i”pkr~
(2) fl>kus ds i”pkr~
(3) [kuu ds rhu ekg i”pkr~
(4) fuekZ.k ds rqjUr igys

49. The lever arm in a singly reinforced beam is equal to:

(1) d – x (2) 2d – x/3
(3) d – x/3 (4) 4d – x/3
where d = distance between the top of beam and centre of 
steel bars and x = depth of neutral axis below from the top 
of the beam 

49. ,dy çcfyr che esa yhoj vkeZ cjkcj gksrk gS%

(1) d – x (2) 2d – x/3
(3) d – x/3 (4) 4d – x/3
tgk¡ d = /kju ds “kh’kZ ,oa LVhy NM+ksa ds dsUæ ds e/; nwjh ,oa
x = che ds “kh’kZ ls rVLFk v{k ds uhps dh xgjkbZ

50. As per IS specification, the minimum time for initial
setting of ordinary portland cement is:

(1) 20 minutes (2) 30 minutes
(3) 60 minutes (4) 10 hours

50. IS LisflfQd¢'ku d¢ vuqlkj lk/kkj.k i¨VZySaM lhesaV dh Ákbejh lsÇVx
dk U;were le; g¨rk gS

(1) 20 feuV (2) 30 feuV
(3) 60 feuV (4) 10 ?kaVk

51. The quality of structured steel is normally identified by:

(1) Yield stress (2) Ultimate stress
(3) Proof stress (4) None of these

51. LVªdpMZ LVhy dh xq.kork lkekU;r% igpkuh tkrh gS%

(1) ;hYM LVªsl (2) vYVhesV LVªsl
(3) ÁwQ LVªsl (4) buesa ls dksbZ ugha

52. In Plate girders, steel plates are placed at the top and
bottom plates to enhance its:

(1) Torsional stiffness (2) Shear stiffness
(3) Flexural stiffness (4) Axial stiffness

52. IysV /kj.k vkSj LVhy IysVksa dks 'kh"kZ vkSj fupyh IysVksa ij D;k c<+kus
ds fy, j[kk tkrk gS%

(1) ejksM+ nquZE;rk (2) vi:i.k nquZE;rk
(3) vkueu nquZE;rk (4) v{kh; nquZE;rk

53. A brick which is cut in such a way that the width of its
one end is half that of a full brick, is called:

(1) King closer (2) Mitred closer
(3) Bevelled closer (4) Queen closer

53. ,d b±V dks bl çdkj dkVk tkrk gS fd blds ,d fljs dh pkSM+kbZ
iwjh b±V ds vk/ks ds cjkcj gks rks mls dgrs gSa%

(1) ikSuk (2) ekbVªsV Dykstj
(3) csosfyr Dykstj (4) v)/kk rksM+k

54. In a simply supported slab, alternate bars are curtailed
at:

(1) 1/5 of the span (2) 1/6 of the span
(3) 1/7 of the span (4) 1/8 of the span

54. ,d lk/kkj.k lefFkZr LySc esa] oSdfYid NM+s dkVh tkrh gSa%

(1) LiSu dh 1/5 (2) LiSu dh 1/6
(3) LiSu dh 1/7 (4) LiSu dh 1/8

55. Inverted siphon is provided when:

(1) Two sewers meet
(2) A sewer crosses a river
(3) Two roads meet
(4) To empty out a sump

55. çrhi lkbQu miyC/k djk, tkrs gSa tc%

(1) nks lhoj feyrs gSa
(2) ,d lhoj unh dks ikj djrk gS
(3) nks lM+ds feyrh gSa
(4) fuxZr dks [kkyh djus ds fy,

56. Separation of water or water sand cement from a
freshly mixed concrete, is known:

(1) Bleeding (2) Creeping
(3) Flooding (4) Segregation

56. rkts fefJr daØhV ls ty ;k ty jsr lhesUV dk i`Fkôhdj.k tkuk
tkrk gS%

(1) fCyfMax (2) Øhfiax
(3) ¶yfMax (4) lsxzhxs”ku
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57. In a CBR test, If the CBR value at 5 mm is greater than
that at 2.5 mm:

(1) The higher value should be chosen
(2) The test should be repeated
(3) Average value of the two should be used
(4) None of these

57. CBR ijh{k.k esa ;fn CBR dk eku 5 mm ij] 2.5 mm ls vf/kd
gks rc%

(1) Å¡pk eku ysuk pkfg,
(2) ijh{k.k nqckjk djuk pkfg,
(3) nksuksa ekuksa dk vkSlr ysuk pkfg,
(4) buesa ls dksbZ ugha

58. Raft foundation is used:

(1) To increase foundation area
(2) Where the sub soil is soft
(3) To resist hydraulic uplift
(4) All of above

58. jS¶V uho dk iz;ksx fd;k tkrk gS%

(1) uho {ks= c<+kus ds fy,
(2) tgka voe`nk dksey gks
(3) tyh; mRFkkiu dk fojks/k djus ds fy,
(4) mi;qZDr lHkh

59. One kilo Pascal is equivalent to:

(1) 10N/mm2 (2) 1000N/m2

(3) 100N/mm2 (4) 1000N/cm2

59. ,d fdyks Pascal =

(1) 10N/mm2 (2) 1000N/m2

(3) 100N/mm2 (4) 1000N/cm2

60. Orifice meter is used to measure:

(1) Discharge (2) Average velocity
(3) Max velocity (4) Pressure at a point

60. vkL;ekih dk iz;ksx fuEu ekius ds fy, fd;k tkrk gS%

(1) foltZu (2) vkSlr osx
(3) vf/kdre osx (4) ,d fcanq ij nkc

61. Thickened part of the flat slab over its supporting
coloumn is known as:

(1) Coloumn head (2) Drop panel
(3) Capital (4) None of these

61. piVs LySc dk blds vkyach dkye ij LFkwy fgLlk dgykrk gS%

(1) dkye “kh’kZ (2) ikr iSuy
(3) LraHk “kh’kZ (4) buesa ls dksbZ ugha

62. A steel frame consists of members OA, OB, OC and
OD all having same length L and same flexural
stiffness EI. If joint O of the frame is rigid and end A
and C are fixed, B is hinged and D is free, then the
rotational stiffness of the frame at point O is given by:

(1) 6(EI/L) (2) 8(EI/L)
(3) 10(EI/L) (4) 11(EI/L)

62. ,d bLikr ds Ýse esa lnL;ksa ds :i esa OA, OB, OC rFkk OD gS
ftuesa ls lHkh dh ,dleku yackbZ L vkSj ,dleku vkuE;rk dBksjrk
EI gSA ;fn Ýse dk tksM+ O dBksj gS vkSj Nksj A rFkk C fLFkj gSa] B
dCtsnkj gS vkSj D eqDr gS] rks fcanq O ij Ýse dh ?kw.khZ dBksjrk
fuEu ls izkIr gksxh%

(1) 6(EI/L) (2) 8(EI/L)
(3) 10(EI/L) (4) 11(EI/L)

63. A rigid jointed plane frame as shown below will:

(1) Sway to left (2) Sway to right
(3) Will not sway (4) None of these

63. tSlk fd uhps n”kkZ;k x;k gS] ,d n`<+ tksM+ (rigid jointed) okyk Ýse%

(1) ckbZa vksj >qdsxk (2) nkbZa vksj >qdsxk
(3) ugha >qdsxk (4) buesa ls dksbZ ugha

64. The modulus of elasticity of steel is assumed to be:

(1) 200 KN/mm2 (2) 225 KN/mm2

(3) 250 KN/mm2 (4) 275 KN/mm2

64. LVhy esa yksp ds ekikad dh ekU;rk gS%

(1) 200 KN/mm2 (2) 225 KN/mm2

(3) 250 KN/mm2 (4) 275 KN/mm2

65. The grade of concrete generally not used in RCC is:

(1) M 40 (2) M 15
(3) M 10 (4) M 20

65. RCC esa fdl Js.kh dh daØhV dk ç;ksx lk/kkj.kr;k ugha fd;k tkrk
gS%

(1) M 40 (2) M 15
(3) M 10 (4) M 20

66. Permissible stress σcb as per IS : 456 for M20 concrete
is:

(1) 5 N/mm2 (2) 7 N/mm2

(3) 6 N/mm2 (4) 4 N/mm2

66. IS : 456 ds vuqlkj vuqKs; çfrcy  σcb, M20 daØhV ds fy,
gksrk gS%

(1) 5 N/mm2 (2) 7 N/mm2

(3) 6 N/mm2 (4) 4 N/mm2
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67. A bourdon gauge measures the pressure at a point
relative to:

(1) The standard atmospheric pressure and not relative to
absolute zero pressure

(2) The absolute zero pressure and not relative to the
local atmospheric pressure

(3) Standard atmospheric pressure and not relative to
local atmospheric pressure

(4) The local atmospheric pressure and not relative to the
standard atmospheric pressure

67. cwjUnk xst buesa ls fdlls lEcfU/kr fcUnq ij nkc dk eki djrk gS%

(1) ekud ok;qeaMyh; nkc rFkk ;FkkZFk “kwU; nkc ls lEcfU/kr ugha
(2) ;FkkFkZ “kwU; nkc rFkk LFkkuh; ok;qeaMyh; nkc ls lEcfU/kr ugha
(3) ekud ok;qeaMyh; nkc rFkk LFkkuh; ok;qeaMyh; nkc ls lEcfU/kr

ugha
(4) LFkkuh; ok;qeaMyh; nkc rFkk ekud ok;qeaMyh; nkc ls lEcfU/kr

ugha

68. The approximate allowable axial compressive stress
under earthquake load condition in reinforced
concrete is:

(1) 0.25fck

(2) 0.33 fck

(3) 0.44 fck

(4) 0.30 fck

Where, fck = crushing stress of 15 cm cube at 28 days crushing 

68. çcfyr daØhV esa HkwdEih; Hkkj fLFkfr ds vUrxZr yxHkx vuqes; v{k
laihMu çfrcy gS%

(1) 0.25fck 

(2) 0.33 fck

(3) 0.44 fck

(4) 0.30 fck

tc] fck = 28 fnuksa ds lanyu ij 15 cm ?ku dk lanyu çfrcy

69. The shear force in a beam (V) and the displacement (ν)
are related by:

(1) 2

2

dx

d
EIV

ν
=  (2) 3

3

dx

d
EIV

ν
=

(3) 4

4

dx

d
EIV

ν
= (4) Not related to each other

Where EI = Flexural rigidity 

69. ,d /kju ¼V½ esa vi:i.k cy rFkk foLFkkiu ¼ν½ buesa ls fdlls
lEcfU/kr gSa%

(1) 2

2

dx

d
EIV

ν
=  (2) 3

3

dx

d
EIV

ν
=

(3) 4

4

dx

d
EIV

ν
= (4) ,d nwljs lEcfU/kr ugha gSa

tc EI = vkueuh n`<+rk 

70. Consider the following statements:

If a simply supported beam of uniform cross-section is
subjected to a clockwise moment at the left support
and an equal anticlockwise moment at the right
support, then the:
1. B.M.D. will be in the shape of a rectangle
2. S.F.D. will be a straight line coinciding with the base
3. Deflection curve will be in the shape of a circular arc
Of these statements
(1) 1, 2 and 3 are correct
(2) 1 and 2 are correct
(3) 1 and 3 are correct
(4) 2 and 3 are correct

70. fuEukafdr dFkuksa ij fopkj djsaA

;fn ,d leku vuqçLFk dkV dh ,d ljy vk/kkfjr /kju ck,a
vk/kkj ij nf{k.kkoZr vk?kw.kZ ds v/khu gS vkSj nk,a vk/kkj ij leku
okekorZ vk?kw.kZ ds v/khu gS rks%
1. B.M.D ,d vk;rkdkj dh vkÑfr esa gksxh
2. S.F.D vk/kkj ds lkFk laikrh lh/kh js[kk gksxh
3. fo{ksi oØ ,d o`Ùkh; vkdZ dh vkÑfr esa gksxk
mijksä dFkuksa esa ls
(1) 1, 2 vkSj 3 lgh gSa
(2) 1 vkSj 2 lgh gSa
(3) 1 vkSj 3 lgh gSa
(4) 2 vkSj 3 lgh gSa

71. Consider the following statements regarding an under
reinforced rectangular section:

1. Concrete develops allowable compressive stress
2. Concrete develops stress less than allowable stress
3. Steel develops allowable tensile stress
4. Steel develops stress less than allowable stress
Of these statements;

(1) 1 and 3 are correct
(2) 1 and 4 are correct
(3) 2 and 3 are correct
(4) 2 and 4 are correct

71. ,d U;wu izcfyr vk;rkdkj [kaM ds laca/k esa fuEu dFkuksa ij fopkj djsa%

1. daØhV vuqeR; laihM+u izfrcy fodflr dj ysrk gS
2. daØhV vuqeR; izfrcy dh rqyuk esa de izfrcy fodflr dj ysrk gS
3. bLikr vuqeR; ruu izfrcy fodflr dj ysrk gS
4 bLikr vuqeR; izfrcy dh rqyuk esa de izfrcy fodflr dj ysrk gS 

bu dFkuksa esa ls% 
(1) 1 vkSj 3 lgh gS
(2) 1 vkSj 4 lgh gS
(3) 2 vkSj 3 lgh gS
(4) 2 vkSj 4 lgh gS

JE_Civil (Eve.) NBC29OCTX7 [A–8]

https://testbook.com/
https://play.google.com/store/apps/details?id=com.testbook.tbapp


72. The ratio of the effective length of a cantilever column
to its height for the possible buckling is:

(1) 2.0 (2) 1.5
(3) 1.0 (4) 0.5

72. lEHkkfor vkdqapu gsrq fdlh dSUVhyhoj LrEHk dh Å¡pkbZ ij çHkkoh
yEckbZ dk vuqikr gksrk gS%

(1) 2.0 (2) 1.5
(3) 1.0 (4) 0.5

73. The Euler load for a column is 1000kN and the crushing
load is 1500kN. The Rankine load for this is equal to:

(1) 600kN (2) 1000kN
(3) 1500kN (4) 2500kN

73. ,d LrEHk ds fy, vk;yj Hkkj 1000kN gS vkSj dqpyus dk Hkkj
1500kN gSA blds fy, jSfUdu Hkkj buesa ls fdlds cjkcj gS%

(1) 600kN (2) 1000kN
(3) 1500kN (4) 2500kN

74. An axially loaded bar is subjected to a normal stress of
173 MPa. The shear stress in the bar is:

(1) 75MPa (2) 86.5MPa
(3) 100MPa (4) 122.3MPa

74. ,d v{kh; :i ls Hkkfjr NM+ dks 173 MPa ds lkekU; izfrcy ds
v/khu j[kk tkrk gSA NM+ esa vi:i.k izfrcy%

(1) 75MPa (2) 86.5MPa
(3) 100MPa (4) 122.3MPa

75. If EC = a ckf , value of a is:

(1) 5900 (2) 5800
(3) 5700 (4) 5600

75. ;fn EC a ckf ] rks a dk eku gS% 

(1) 5900 (2) 5800
(3) 5700 (4) 5600

76. The minimum number of main steel bars in RCC
circular columns must be:

(1) 2 (2) 4
(3) 6 (4) 8

76. RCC ds o`Ùkkdkj LrEHkksa esa eq[; bLikr NM+ks dh U;wure la[;k buesa
ls fdruh gksuh gh pkfg,%

(1) 2 (2) 4
(3) 6 (4) 8

77. In uncracked reinforced concrete columns, the actual
bending compressive stress is obtained as:

(1) M/bjd2 (2) M/Z
(3) P/A (4) M/P
Where M  = Bending moment; b = width of the column 
section, 
jd = lever arm distances, A = area of the transformed 
section 
Z  = section modulus of the transformed section 
 P = axial force and   d = distance of steel from the extreme 
compression fibre 

77. fdlh fcuk&njkj ds çcfyr daØhV LrEHk esa okLrfod cadu lEihMu
çfrcy buesa ls fdl :i esa çkIr fd;k tkrk gS%

(1) M/bjd2 (2) M/Z
(3) P/A (4) M/P
tc M = cadu vk?kw.kZ] b = LrEHk [k.M dh pkSM+kbZ
jd = mÙkksyd Hkqtk nwjh] A = :ikUrfjr [k.M {ks=
Z = :ikUrfjr [k.M ds [k.M ekikad
P = v{kh; cy rFkk d = lqnqj lEihMu Qkbcj ls bLikr dh nwjh

78. The shear force is usually associated with:

(1) Bending moment (2) Torsional moment
(3) Normal thrust (4) None of the above

78. vkerkSj ij vi:i.k cy buesa ls fdldk lgpkjh gksrk gS

(1) cadu vk?kw.kZ (2) ejksM+h vk?kw.kZ
(3) lkekU; iz.kksn (4) buesa ls dksbZ ugha

79. The soil type which have significant influence of water
content in compaction process is:

(1) Clay of high plasticity
(2) Silty clay
(3) Sandy silty clay
(4) Silty sandy clay

79. ,slh e`nk bues ls fdl izdkj dh gksxh ftles laguu izfØ;k esa ty
dh ek=k dk izHkko egRoiw.kZ gks%

(1) mPp IykfLVdrk okyh e`fÙkdk
(2) lkne; e`fÙkdk
(3) cyqbZ lkne; e`fÙkdk
(4) lkne; cyqbZ e`fÙkdk

80. Waterborne pathogens are:

(1) Bacteria (2) Viruses
(3) Protozoa (4) All of these

80. tylaØked jksxk.kq gS%

(1) cSDVhfj;k (2) ok;jlst
(3) çksVkstksvk (4) mi;qZä lHkh

81. The approximate allowable shear stress in reinforced
cement concrete is about:

(1) fck / 30 (2) fck / 15
(3) fck / 7.5 (4) fck / 5

81. çcfyr lhesaV daØhV esa vuqKs; vi:i.k çfrcy yxHkx gksrk gS%

(1) fck / 30 (2) fck / 15
(3) fck / 7.5 (4) fck / 5
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82. Bitumen is soluble in:

(1) Diesel
(2) Water
(3) Petrol
(4) Carbon disulphide

82. fcVqeu fuEufyf[kr esa ?kqyu'khy gS

(1) Mhty
(2) ikuh
(3) isVª¨y
(4) dkcZu Mkb lYQkbM

83. In a fixed beam having a uniformly distributed load
over the whole span, the moments will be calculated
by the formula:

(1) WL2 /12 (2) WL3 /8
(3) WL2 /8 (4) WL3 /12

83. ,d LFkkbZ /kju ftl ij cjkcj :i ls Hkkj iwjs LiSu ij forjhr gS]
mldk e¨esaV dh x.kuk dk lw= gksxk%

(1) WL2 /12 (2) WL3 /8
(3) WL2 /8 (4) WL3 /12

84. A tie is a:

(1) Flexible member
(2) Compression member
(3) Torsion member
(4) Tension member

84. fuEu esa ls VkÃ gS &

(1) yphyk esacj
(2) dEijslu esacj
(3) V¨lZu esacj
(4) Vsalu esacj

85. A channel section consist of:

(1) Two webs
(2) Two flanges
(3) Two webs and two flanges
(4) One web and two flanges

85. fuEu esa ls psuy lsDlu esa g¨rk gS

(1) n¨ osc
(2) n¨ ¶ysat
(3) n¨ osc ,oa n¨ ¶ysat
(4) ,d osc ,oa n¨ ¶ysat

86. The failure of a column depends upon:

(1) Weight of column
(2) Length of column
(3) Slenderness ratio
(4) Cross sectional area of column

86. ,d dkWye dh vlQyrk fuHkZj djrh gS%

(1) dkWye d¢ otu ij
(2) dkWye dh yEckÃ ij
(3) LysaMjusl js';¨ ij
(4) dkWye ds Ø¨l lsDluy ,fj;k ij

87. Water content of soils can be accurately determined
by:

(1) Calcium carbide
(2) Sand bath
(3) Alcohol method
(4) Over drying method

87. fuEu esa ls feVVh esa ikuh dh ek=k d¨ lgh <ax ls fu/kkZfjr djrk gS%

(1) dSfY”k;e dkckZbM
(2) lSaM ckFk
(3) vYd¨gy fof/k
(4) vksoj Mªkb±x fof/k

88. The theoretical Velocity of jet at Vena Contracta is:

(1) 2gh (2) 2g h

(3) gh2 (4) g2H

88. osuk d¨UVªSDVk ij tsV dh lS)kfUrd osx g¨xk\

(1) 2gh (2) 2g h

(3) gh2 (4) g2H

89. Euler’s Formula is not Valid for mild steel column
when slenderness ratio:

(1) More Than 80
(2) More Than 120
(3) Less Than 80
(4) More Than 30

89. ;qyj dk QkewZyk ekbYM LVhy dkWye d¢ fy, rc cS/k ugÈ g¨rk tc
LysaMjusl jsf'k;¨

(1) 80 ls T;knk gks
(2) 120 ls T;knk gks
(3) 80 ls de gks
(4) 30 ls T;knk gks

90. A francis turbine is:

(1) inward flow reaction turbine
(2) inward flow impulse turbine
(3) outward flow reaction turbine
(4) outward flow impulse turbine

90. ,d Ýkafll Vjckbu gS%

(1) buokMZ ¶y¨ fj,D'ku Vjckbu
(2) buokMZ ¶y¨ bEiYl Vjckbu
(3) vkmVokMZ ¶y¨ fj,D'ku Vjckbu
(4) vkmVokMZ ¶y¨ bEiYl Vjckbu
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91. The minimum cover for bars in RCC slabs should be:

(1) 15 mm
(2) 15 mm or dia of bars
(3) 25 mm or dia of bars
(4) 15 mm or the size of the aggregate

91. RCC Lyscksa esa NM+ksa ds fy, U;wure vkoj.k fdruk gksuk pkfg,%

(1) 15 mm
(2) 15 mm or NM+ks dk O;kl
(3) 25 mm or NM+ks dk O;kl
(4) 15 mm ,oa feykos dk vkdkj

92. The law used in permeability test is

(1) Stoke’s law (2) Pascal’s law
(3) Darcy’s law (4) Newton’s law

92. ikjxE;rk ijh{k.k esa ç;ksx fd, tkus okys fu;e dks dgrs gSa%

(1) LVksDl fu;e (2) ikLdy dk fu;e
(3) MklhZ dk fu;e (4) U;wVu dk fu;e

93. Dupit’s theory is used to find:

(1) Liquid limit of soil
(2) The coefficient permeability of soil
(3) Shear strength of soil
(4) Settlement of soil

93. MqfIyV ds fl)kUr dk ç;ksx buesa ls fdldk irk yxkus ds fy, fd;k
tkrk gS%

(1) e`nk dh æo lhek
(2) e`nk dk ikjxE;rk xq.kkad
(3) e`nk dh vi:i.k lkeF;Z
(4) e`nk dk fu’knu

94. The survey, in which the curvature of earth is ignored,
is called as:

(1) Plane survey (2) Geodetic survey
(3) Geological survey (4) Aerial survey

94. losZ] ftlesa i`Foh ds dosZpj dh vogsyuk dh tkrh gS

(1) Iysu losZ (2) ftvksMsfVd losZ
(3) ftvksykWftdy losZ (4) ,fjvy losZ

95. The compressive strength of stone is found out by:

(1) Attrition test (2) Crushing test
(3) Hardness test (4) Impact test

95. iRFkj dh dEÁsflo LVªsaXFk fdl VsLV d¢ }kjk ukih tkrh gS

(1) ,Vjhlu VsLV (2) ØÇlx VsLV
(3) gkMZusl VsLV (4) bEisDV VsLV

96. Apex line of a sloping roof is called:

(1) Rise (2) Hip
(3) Ridge (4) verge

96. ,d Ly¨Çix :Q dh visDl ykbu dgykrh gS

(1) jkbl (2) fgi
(3) fjt (4) otZ

97. The bending moment acting on the plane of an element
will cause the following type of stress on the plane:

(1) Transverse shear stress
(2) Axial stress
(3) Tension stress
(4) Normal stress

97. fdlh rRo ds ry ij yxk gqvk cadu vk?kw.kZ ry ij fuEukafdr esa ls
fdl çdkj ds çfrcy dk dkj.k curk gS%

(1) vuqçLFk vi:i.k çfrcy
(2) v{kh; çfrcy
(3) ruko çfrcy
(4) lkekU; çfrcy

98. The toughness index is equal to:

(1) Ratio of the shear strength to the gradient
(2) Limit of the liquid limit
(3) Ratio of the plasticity index to the flow limit
(4) Ratio of the liquid limit to the plastic limit

98. dBksjrk lwpd buesa ls fdlds led{k gksrk gS%

(1) vi:i.k lkeF;Z o ço.krk dk vuqikr
(2) æo lhek dh lhek
(3) IySfLVdrk lwpd o çokg lhek dk vuqikr
(4) æo lhek o IykfLVd lhek dk vuqikr

99. The consolidation of a soil involves:

(1) Settlement of the soil
(2) Gradual drainage and compression of pore water and

pore air
(3) Compression of air in the pores of the soil
(4) None of these

99. e`nk lafiMu esa “kkfey gS%

(1) e`nk dk v/kksiru
(2) jU/kz ty rFkk jU/kz ok;q dk Øfed viogu o lEihMu
(3) e`nk ds jU/kzksa esa ok;q dk lEihMu
(4) mijksä esa ls dksbZ ugha

100. Concentration of fluorides desirable in water is:

(1) Not more than 1 mg/litre
(2) 1 to 2 mg/litre
(3) 10 to 20 mg/litre
(4) Not more than 250 mg/litre

100. ty esa ¶yw;jkbM~l dh lkUærk okaNuh; gksrh gS%

(1) 1 mg/litre ls T;knk ugha
(2) 1 ls 2 mg/litre
(3) 10 ls 20 mg/litre
(4) 250 mg/litre ls T;knk ugha
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egRoiw.kZ%  fuEufyf[kr funsZ'k /;kuiwoZd i<+saA vius ç”uksa ds mÙkj ç”u&iqfLrdk esa u yxk,a vU;Fkk p;u çfØ;k ls vkidh ik=rk oafpr dj nh tk;sxhA 

1. viuk mÙkj fy[kuk çkjEHk djus ls igys viuh ç'u iqfLrdk dh Hkyh&Hkk¡fr tk¡p dj ysa] ns[k ysa fd blesa 100 ç'u gSa ¼90 ç”u fo|k”kk[kk@rduhdh vfHk:fp]
10 ç”u lkekU; Kku vkSj blesa fçafVax laca/kh vFkok vU; fdLe dh dksbZ deh ugha gSA ;fn fdlh çdkj dh dksbZ deh gks rks i;Zos{kd dks lwfpr djsa rFkk 
iqfLrdk cny ysaA bl lanHkZ esa fdlh Hkh çdkj dh dksbZ f'kdk;r ij ckn esa dksbZ fopkj ugha fd;k tk,xkA 

2. mÙkj if=dk bysDVªkWfud ek/;e ls lalkf/kr dh tk,xhA vr% bls eksM+us ;k ;=&r= fpUg yxkus vFkok mÙkj if=dk dks [kjkc djus ,oa viw.kZ@vlR; Hkjus ij 
mÙkj if=dk dks fujLr fd;k tk ldrk gS ,oa bldh iwjh ftEesnkjh vH;FkÊ ij gksxhA 

3. xyr mÙkj ds fy, _.kkRed vadu ugha gksxkA 

4. d{k&fujh{kd ls vius ços”k&i= ij gLrk{kj vo”; djok,aA ;fn vkius gLrk{kj ugha djok;k rks vkidh ik=rk jí dj nh tk,xhA 

5. ;g ,d oLrqijd fdLe dh ijh{kk gS ftlesa çR;sd ç'u ds uhps Øekad (1) ls (4) rd pkj çLrkfor mÙkj fn;s gSaA vkids fopkj esa tks Hkh mÙkj lgh@loZJs"B 
gS mldks vks-,e-vkj- mÙkj i= esa fn;s funsZ'k ds vuqlkj fpfUgr dhft,A vius mÙkj ç'u iqfLrdk esa u yxk,A 

6. vks-,e-vkj- mÙkj if=dk ij lHkh dk;ks± ds fy, dkys@uhys ckWy Iokb±V isu ls fy[ksaA vks-,e-vkj mÙkj if=dk ij vksoy dks iw.kZ :i ls dsoy dkys@uhys ckWy 
Iokb±V isu ls HkjsaA ,d ckj fn, x, mÙkj dks cnyk ugha tk ldrkA 

7. mÙkj&i= ij u rks jQ+ dk;Z djsa u gh vkSj fdlh çdkj dk fu'kku vkfn yxk,a ;k bls eksaM+sA 

8. dsYdqysVj] LykbM:y] eksckbZy] dsYdqysVj ?kfM+;k¡ ;k bl çdkj dh dksbZ Hkh ;qfä ,oa fdlh Hkh v/;;u@lanHkZ lkexzh vkfn dk ç;ksx ijh{kk d{k esa oftZr gSA 

9. jQ+ dk;Z iqfLrdk esa fdlh Hkh [kkyh LFkku esa fd;k tkuk pkfg,] vks-,e-vkj- mÙkj if=dk ij dksbZ Hkh jQ+ dk;Z u djsaA fdlh vU; dkx+t ij bls djus dh 
vuqefr ugha gSA 

10. ç'u iqfLrdk ¼A, B, ,oa C½ rhu Jà[kykvksa esa gksxhA vkidks vks-,e-vkj- mÙkj if=dk ij lgh ç'u iqfLrdk J̀a[kyk fy[kuk gSA 

11. ijh{kk dh lekfIr ds i'pkr~ viuh iwjh ç'u&iqfLrdk rFkk mÙkj&if=dk i;Zos{kd dks okil dj nsaA ç'u iqfLrdk ;k blds fdlh Hkkx vFkok vks ,e vkj mÙkj 
if=dk dks ijh{kk d{k ls ckgj ys tkuk oftZr gS ,slk djuk nUMuh; vijk/k gSA 

12. gj ,d ç'u ds fy, dsoy ,d gh mÙkj bafxr djsaA ,d ls vf/kd mÙkj nsus ij ç'u dk dksbZ vad ugha fn;k tk,xkA mÙkj esa dksbZ Hkh dfVax ;k vksojjkbZfVax ekU; 
ugha gksxhA iqu% ç'u f}Hkk"kh; ¼fgUnh ,oa vaxzsth½ esa gSA fgUnh vuqokn laLdj.k esa fdlh Hkh fHkérk gksus ij ewY;kadu ds fy, vaxzsth laLdj.k dks vfUre ekuk tk;sxkA 
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